

$$(1) (a) \quad 1-i = \sqrt{2} \left( \frac{1}{\sqrt{2}} - \frac{i}{\sqrt{2}} \right) = \sqrt{2} e^{-i\pi/4}, \quad 1+\sqrt{3}i = 2 \left( \frac{1}{2} + \frac{\sqrt{3}}{2}i \right) = 2 e^{i\pi/3}$$

$$\left( \frac{1-i}{1+\sqrt{3}i} \right)^{20} = \frac{1}{2^{10}} e^{-i(20)\pi/4} = -\frac{1}{2^{10}}$$

$$(b) \quad -2-2i = 2\sqrt{2} \left( -\frac{1}{\sqrt{2}} - \frac{i}{\sqrt{2}} \right) = 2\sqrt{2} e^{-3\pi/4 i}$$

$$(-2-2i)^{1/5} = 2^{1/5} e^{-\frac{3\pi}{20} i + \frac{2k\pi}{5}} \quad k=0,1,2,3,4$$

$$(c) \quad \frac{1}{x^2} - \frac{Gx}{\sin^2 x} = \frac{\sin^2 x - x^2 Gx}{x^2 \sin^2 x} = \frac{(x - x^3/3! + \dots)^2 - x^2(1 - x^2/2 + x^4/4! - \dots)}{x^2(x - x^3/3! + \dots)^2}$$

$$= \frac{(1 - x^2/3! + \dots)^2 - (1 - x^2/2 + x^4/4! - \dots)}{x^2(1 - x^2/3! + \dots)^2} = \frac{1 - 2x^2/3! + \dots - (1 - x^2/2 + x^4/4! - \dots)}{x^2 + \dots}$$

Hence  $\lim_{x \rightarrow 0} \frac{1}{x^2} - \frac{Gx}{\sin^2 x} = \frac{1}{6}$

$$(2) \quad r^{2n} e^{in\pi t} = r^{2n} G \cos nt + i r^{2n} \sin nt$$

$$\sum_0^{\infty} r^{2n} e^{in\pi t} = \sum_0^{\infty} r^{2n} G \cos nt + i \sum_0^{\infty} r^{2n} \sin nt$$

Hence  $\left( \sum_0^{\infty} r^{2n} G \cos nt \right)^2 + \left( \sum_0^{\infty} r^{2n} \sin nt \right)^2 = \left| \sum_0^{\infty} r^{2n} e^{in\pi t} \right|^2$

$$= \left| \sum_0^{\infty} (r^2 e^{it})^n \right|^2 = \left| \frac{1}{1 - r^2 e^{it}} \right|^2 = \frac{1}{(1 - r^2 G \cos t)^2 + r^4 \sin^2 t}$$

$$= \frac{1}{1 - 2r^2 G \cos t + r^4}$$

$$(3) (a) \quad a_n = \frac{(n!)^3 \ln n}{(3n)!}, \quad \frac{a_{n+1}}{a_n} = \left( \frac{(n+1)!}{n!} \right)^3 \frac{\ln(n+1)}{\ln n} \frac{(3n)!}{(3(n+1))!}$$

$$= \frac{(n+1)^3}{(3n+1)(3n+2)(3n+3)} \frac{\ln(n+1)}{\ln n} \rightarrow \frac{1}{27} \quad \text{as } n \rightarrow \infty$$

Circle of convergence :  $\{ z : |z| \leq 27 \}$

$$(b) \quad |z^{ln n}| = |e^{ln n \cdot ln z}| = e^{ln n \operatorname{Re} ln z} = e^{ln n \ln |z|} \\ = n^{\ln |z|}$$

Now  $\sum_{n=2}^{\infty} n^{\ln |z|}$  converges if and only if  $\ln |z| < -1$

$$\text{or } |z| < \frac{1}{e} \quad \checkmark$$

$$(4) \quad (a) \quad \text{If } z = x + iy, \text{ then } 2 - 2zi = (2 + 2y) - 2ix \geq 0.$$

Hence  $x = 0$  and  $2 + 2y \geq 0$ . Now  $|z - 3i| = |iy - 3i| = |y - 3|$

and  $|y - 3| = 2 + 2y$  means either  $y - 3 = 2 + 2y \Rightarrow y \geq 3$

or  $3 - y = 2 + 2y$  and  $y < 3$ ,  $2 + 2y > 0$ . The first case

means  $y = -5$  which is inconsistent with  $y \geq 3$ . The second case

means  $y = \frac{1}{3}$ . The answer is  $z = \frac{i}{3}$ .

$$(b) \quad \operatorname{Im}(iz) < 1 \text{ means } x < 1.$$

$$(5) \quad (a) \quad \cos y = 1 - \frac{y^2}{2!} + \frac{y^4}{4!} - \dots$$

$$\frac{1}{1-x} = 1 + x + x^2 + \dots$$

$$\frac{\cos y}{1-x} = (1 + x + x^2 + \dots) \left( 1 - \frac{y^2}{2!} + \frac{y^4}{4!} - \dots \right)$$

$$= 1 + x + x^2 - \frac{y^2}{2!} - \frac{xy^2}{2!} + \frac{x^2y^2}{2!} + \frac{y^4}{4!} + \dots$$

$$(b) \quad f(a, b) = a^{1/2} b^{-3/2}, \quad df = \frac{1}{2} a^{-1/2} b^{-3/2} da - \frac{3}{2} a^{1/2} b^{-5/2} db,$$

$$\frac{df}{f} = \frac{1}{2} \frac{da}{a} - \frac{3}{2} \frac{db}{b}, \quad \text{Answer } 1 + 3 = 4\%$$

(6)

$$e^{-x^2/2} - 1 - \ln \cos x$$

$$= 1 - \frac{x^2}{2} + \frac{(x^2/2)^2}{2} + \dots - 1 - \ln \left( 1 - \frac{x^2}{2!} + \frac{x^4}{4!} - \dots \right)$$

$$= -\frac{x^2}{2} + \frac{x^4}{8} + \dots - \left\{ \left( -\frac{x^2}{2} + \frac{x^4}{4!} - \dots \right) - \frac{1}{2} \left( -\frac{x^2}{2} + \frac{x^4}{4!} - \dots \right)^2 + \dots \right\}$$

$$= \frac{x^4}{8} - \frac{x^4}{4!} + \frac{1}{8} x^4 + \dots = \frac{x^4}{4!} + \dots$$

Answer  $\frac{5(\cos 11)^4}{4!}$